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NDA & NA Exam{]:2016

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : B-OEBA-P-QEX ' Test Booklet Series

e, MATHEMATICS

TEST BOOKLET

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item. ’

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. All items carry equal marks. .

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.
. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
guestion, ;

(iii) Ifa question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
eI € ;TR 1 R TR 3 g * fUeR 9 W w2y
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1. Suppose ® is a cube root of uni . =25 :
o v 4. 1If z=x+iy=[1 l) , where i = /=1,

with w= 1. Suppose P and Q are the 2 P
points on the complex plane defined then what is the fundamental amplitude
by ® and w?. If O is the origin, then of Z—JQ?
what is the angle between OP and 0Q? z2-i2 ?
al n
)
(b) 90° 2
' n
o C =t
{¢j 120 fc} 3
{d) 150° (d) I
4
2. Suppose there is a relation * between the 5. If
positive numbers x and y given by x*y ‘
if and only if x < y2. Then which one Flxy) - Flxg) =f[1xi "’;2 J
of the following is correct? x1xg |
faj = is reflexive but not transitive and for x;, x5 € (-1, 1), then what is f(x)
symmetric equal to?
’ i loX
(b} = is transitive but not reflexive and (@) In s
symmetric
(b) ln( 2+ xj
fe} *is symmetric and reflexive but not o\ lex
transitive -
fc) tan'l[;—x)
{d} *is symmetric but not reflexive and +x
transitive 1+x

(d) tantl(l—]

3. If x2 - px+4 >0 for all real values of x,

then which one of the following is 6. What is the range of the function

correct? _ x?2
- 1+ x2
@) Ipl<4 :
where x eR?
(b) |pls4 {a) [0, 1)
0, 1
¢ ipl>4 15
fe) (0, 1)
[d) |p|=4 d) (0, 1]

B-OEBA-P-QEX/55A 2
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1. 79 o fF o & (IFR) = @ R sl Y
w=13) WE AT P IR Q, 0 T o? T 4. A z=x+iy= (J— J‘J , S i=4=1

wfonfis wffy wae W gt 21 AR o z-2 )
Wﬁ%ﬁro;nafﬁoo%aﬂamw LR IJ__WH:(;IGTWW%
1 37
fa} =
(a) 60° ) 323
(b). 90°
c) 120° , : ,,(c_} 3
o ' : T
{dj 150 @ 7
2. wH i % wers wemedt x ot y & &S ‘5_qﬁx1,x25(ﬂ1' 1) % ferg
TF WEY + T9 VAR e R % xxy, AR .
@R ¥ AR x<y? ¥ A FeARfan 3 A Sa) = flxg) = f[l xlx'“;J
-9 T el 87 :

2, A f(x) Pows TR A7

(@ ln(i_’_i)

i

(a) *ﬁw%%ﬁqwaﬁnwﬁm?ﬁ 4
(b) s & Aot wge SR Wt

_ ' ' (b) 1n[2+x)
() GufHa 3R E@gT & ARE W e 1-x
(d) »wufia St waged o wwme T8 © tan—l(l“_’.‘_)
‘ 1+ x
3.9 x ¥ i aiw wd % Rw . (d) tan"l(ii—i)
x2 - px+4 > 0%, @ Fafafan # | FR-w '
T Td 27 |
. 5.%?_:;—- 1 U™ 4T R, & xeR P
(@ |pi<4 1+%
, (@ 10, 1)
) |pl=s4
| (b} 10, 1]
(c) lpl>4 fe) (0, 1)
[d) |plz4 (d (0, 1]
B-OEBA-P-QEX/55A 3 | [P.T. O.
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7. A straight line intersects x and y axes
at P and Q respectively. If (3, 5) is the
middle point of PQ, then what is the
area of the triangle OPQ?

{a} 12 square units
{b) 15 square units
{c) 20 square units

{d) 30 square units

8. If a circle of radius b units with centre
at (0, b) touches the line y=x-+2,
then what is the value of b?
fa) 2++/2
() 2-32
¢} 242
(d 2

For the next three (3) items that follow :

Consider the function
£(8) = 4{sin? 6 +cos* )

9, What is the maximum value of the
function f(8)?
(@ 1
(b) 2
¢ 3
d 4

10. What is the minimum value of the
function f{08}?

faj O
(b} 1
fc) 2
(dj 3

B-OEBA-P-QEX/S5A

11. Consider thelfollowing statements :

1. f(8)=2 has no solution.

2. f{(9) =g has a solution.

Which of the above. statements isfare
correct? ’

{a) 1 only
{b) 2 only
{c) Both 1l and 2

(d) Neither 1 nor 2

i
For the next two (2) items that follow :
Consider the curves

3x :
—, x>0
fix)=x|x|-1and g(x)={ 2

2x, x=£0
12. Where do the curves in‘tersect?'

{a) At (2, 3) only

{b) At (-1, -2) only

fc) At (2, 3)and (-1, -2)

{d] Neither at (2, 3) nor at (~1, —2)
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7. TF W W x 3R y 8 B Fww: p AR Q 11. Fafafes wuE w fem fifvg ;.
T wftesfea *dl 71 AR (3, 5), PO 1 weA- 1. £(6)=2
fig ¥, @ BN OPQ w1 &wet T 7 - S0 ?aﬂaﬁﬁawﬁ%l
o, f(e)=§aﬂ@%'ﬁ%l

(@) 127
(b) 15 i TIE S woR B
(c) 20 i g7
(@ 30 @t 7S ' () F 1
8. aft Bsw b TS 3R I (0, b) W T ¥, (b) Fa 2
W y=x-2 F T w1 B, @ b HAH
e (c) 132t
fa) 2+42 .
) 2-43 | [d ami1dnado -
fc) 242
(d 2 .
AT I G Y (2) Weiwit % T
T ST TR A (3) T T ' o P i
T f(8) =4(sin®@+cos? 0) W FEW
o 3x
AL | : , A gix)=4 2"’ E30
9. FTH £(0) % tfiean W T 27 S
(@ 1 - T e Fifm
() 2 | .
o 1 12. ﬁww.ﬁ%@amﬁ?
() 4

(a) T (2, 3)/TR

10. & £(9) 1 T qH w41 87
(b) FAA (-1, —-2) |

(@ O

&) 1 ) (2, 3)3M (-1, -2) W

e/ 2 '

d 3 : (d) AT (2, )WIRIA (-1, -2) W
B-OEBA-P-QEX/55A 5 [P.T.O.
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13. What is the area bounded by the curves?

(a) l—g square units

(b) —2— square units

fc) 2 square units

(d) % square unit

For the next two (2) items that follow :

Consider the function

14. How many ‘solutions does the function
fix)=1 have?

{a) One
(b) Two
{¢} Three

{d] Four

15. How many solutions does the function
fl(x)=-1have? "

faj One -
{b} Two
{c) Three '

{d} Four

B-OEBA-P-QEX/55A

For the next two (2) items that follow :

Consider the functions
v A " 1
712) = xg(x) and g(x) =[]
where [-]is the greatest integer function.

. .
16. What is |2 g{x}dx equal to?
. 3

@ 2
RS
o =
@ =

1
17. What is |, f{x)dx equal to?
3

37 2
4 7 ® 3
o % @ S

72 144

For the next five (5) items that follow :

Consider the function

flx}=1x-1|+ x2
. where xR,

18. Which one of the following statements
is correct?

{a) f(x) is continuous but not
differentiable at x =0

(b) f(x) 1is continuous
differentiable at x =1

(¢} fl(x)is differentiable at x =1

(d) f(x) is not differentiable at x=0
and x=1

but not
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13. T T3 5 UReEg Sehel w47 27 : AT 3 I S (2) T & T
iy [
@ i | T flx) = xg(x) A glx)=[ 1] [
Hftrwam oIl Fer 8, T = i
8
8 i
® 3 i 16. jfg(x)dxﬁﬁa%arra{%?
() 2w i -
6
1
(@ ¥ e ) %
© =
T W A < (2) Ty F R )
(d) —
36

2/3 _
Wf(x):Mqtﬁaﬂﬁﬁm
17. [, flx)dx Tras war 37
14. %eH f(x)= 1% S g &7

37 ' 2

{a) 7—2 , (b) 3
@ &= 17 87
¢ == (d —
w2 72 144
(0 @ | T ST AT UTT (5) T o Y |
- BeH f(x)=|x~1]+x2, 5@ xeR ¥, W
CRL firam i

18. FrafufEes Fu=t # @ F9- @ 9 &7

45, s B |
15. e f(x) = -1 LSk @ fix), x=0 R Haa ¥ fg srEeweri

faj & . e '
‘ . (b) flx), x=1W Haa & frg sEwaiy
(b} & ' T R
o () flx), x=1T errerha &
' (d} fix), x =03 x = 1 W AFHA TE
{(d) =W ‘ 3 :
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19. Which one of the fol]ow"ing-.statements
is correct?

fal f(x) is inc;reasing in [— oo, %) and
; ; 1
decreasing in (5, oo)
{b) f(x) is decreasing in (— eo, %J and

. increasing in [51, ooj
{c) f(x) is increasing in (-, 1) and
decreasing in (1, o)

{(d] f(x) is decreasing in (-, 1) and
increasing in (1, <)

20. Which one of the following statements
is correct?

fa) f(x])has local minifna at more than
one point in (— e, )

(b) fi(x) has local maxima at more
than one peint in {- e, o)

fc} f(x) has local minimum at one
point only in (— oo, o)

{d} f(x) has neither maxima nor
minima in (- oo, o)

21. What is the area of the region bounded

by x-axis, the curve y= f(x) and the

two ordinates x'=% and x =1?
{a) 2 square unit
12
5 :
(b} r square unit
7 s
{c) 5 square units

{d) 2 square units .

B-OEBA-P-QEX/55A

1t

22. What is the area of the region bounded

by x-axis, the curve y= f(x) and the

two ordinates x = 1'and x = g?
{a) 2, square unit
12
(b) A square unit
12
{c) % square unit

11 :
d) — square unit
{d) 3

For the next two (2) items that follow :

Given that

.2

. x sin“ {(n+ 1) x}

a, =| ————————dx
" JO sin2x

23. Consider the following statements :

1. The sequence {a,,} is in AP with
common difference zero.

2. The sequence {a,, , ;) is in AP with
commeon difference zero.

Which of fhe above statements is/are
correct?

{a) 10n1y

{b) 2 only

(cj- Both 1 and 2

(d) Neither 1 nor 2

24, What is a,,_; —a,_4 equal to?

(@ -1
() ©
@ 1
@ 2
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19. Frffan Heorl § & #a-7 o w7

9 g (o )8 i e (4,
T e 3

O e () w4 )
¥ oo 2 _

fc) f(xj, (oo, 1) § qfH 3R (1, )
BTN 2

(d) flx), (e, 1) ¥ FEUEA 3R (1, ) §
ECrihd

20. Fmfafaa =t 4 @ aﬁh—m@@ %?

fa} fix)®, (—eo, m)ﬁ@"ﬁ st fgatt
mwﬁq@rﬁu%

(b) Flx)%H, (-, «) T TF @ s figait
W T 3 B

) flx) F, (-, =) B Faa o fog w
TN w1l R

(d} fix)}F, (-, =) T T 3ham & g
q & A

21. x-9H, 9 y= f(x)afrta‘rﬁﬁaﬁx;
x = 10 9Iieig Yo o1 &9%a #4] 27

(a) 2 af gk

12

(b) —gaﬁsﬁé

1 o
2

(c) —;-aﬁm

(d) 23 5FR

. B-OEBA-P-QEX/S5A

22. x-#AH, TF y= f(x) MM A T]fedl x = 1 @
x=gmmmmmwa

5 ;
(a) EH"ISEFFQ

) -

12

(c} % EuRCoH]
(d) % it 3

AT I AT B (2) T F B

ﬁmw%ﬁ; J-nsm {(n+1)x}dx

sin2x

23. ﬁm%ﬁaamﬁwﬁanaﬁﬁq

L. 1—5 {a2n}! mé 3-"?‘-{ QH % “HT?I
AP %)

2. I {ay,, ), 9@ FW A F WY
APH 3|

I0E FUA § B BE-T/F 1 B/
.(a) H9d 1

(b) FIA 2

fej 1 3R 2 M

| (d) Td1dARITA 2

24. a,_; -a,_, T su= R?
f@) -1
() 0
© 1
(d) 2

[P.T. 0.
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For the next two {2) items that follow :

Consider the equation x+|y} =2y

25. Which of the following statements are
not correct?

1. y as a function of x is not defined
for all real x.

2. y as a function of x is not
continuous at x = 0.

3. yas a function of x is differentiable
for all x.

Select the correct answer using the code
given below.

{fa) 1 and 2 only

{b) 2 and 3 only

fco 1 and 3 only

{d) 1,2 and 3

26. What is the derivative of y as a function
of x with respect to x for x < 0?

fa) 2 (b} 1
1 1
(c) 2 (d) 5

For the next two (2) items that follow :

Consider the lines

y=3x, y=6x and y=9

27. What is the area of the triangle formed by
these lines?

{a) 21 square units

(b}

square units

(c)

Y
21
2
19 ;
T square units
19 .

= square units

(d

B-OEBA-P-QEX/55A

»

10

28. The centroid of the triangle is at which
' one of the following points? '

{a) (3, 6)

o (29

fe) (3, -3)
o (3]

For the next two (2) items that follow :
Conglder the function

Fle) ={x-1)2 (x+ ) (x~2)°

29, What is the number of points of local
minima of the function f(x)?

{a) None
(b} Omne
fc; Two

{d} Three

30. What is the number of points of local
maxima of the function f(x)?

{a) None
() One
(¢} Two

{d) Three

Download More Papers From GovtJobsAlert.In
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ST ST ST T (2) T ¥ R
THiE x + |y} = 2y T = A

25. Fefafa wot § @ $9-8 98 72 §7

1. y, x BeM & &9 0, gt Iafas x &
f%m_v&mﬁa?s”f%l g

2.y, x % BeH b &Y U, x = 0 | Faqd el
Bl '

3. Yy x % Hed F w4, gft x F R
HTFA 1

A3 R T o R R g
(a) e 1 3R 2
(b) e 2 3R 3
c) a1 33
(dj 1,233

26, yF xF T T F Y xF WG 2 <0
% g sreperst = 27
(a) )
fc) {dj

B B

1
o
3

AT W FTR T (2) Ty ¥ o

@i y=3x, y=6x I y=9 W TER
i)

27. W @i g Tl fiyge w1 deee 7 @7
(a) %a‘f‘ﬁfﬁ- |

(b) %aﬁsﬁ
(c} Z—gaﬁsaa‘ré

(d) %gaﬁﬂ?ﬂé

B-OEBA-P-QEX/55A
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28. Mt = Fum Frefafaa fagedt 4 @ R

war .

{a} (3, 6)

v (29

(¢} (3, 3}

@ (3.0
AT W AT Y (2) TN % R

T flx) = (=12 (x+ 1)(x-2)3 W

fomm Sifem)
29. T f(x) F Toa v sifcyg fag #7
(a) 1T
(b) T
(¢ A

(d) =

30. e f(x) ¥ Fea wrfia s fig #7
(@) g
(b) TH
() @

(d) @

. [P.T.O.
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31. Let f(x) and g(x) be twice differentiable

functions on [0, 2] satisfying

S frx)=gx), f)=4, gll}=96

f(2)=3 and g{2}=9. Then what is
fix)-g(x) at x =4 equal to?

(@ -10
(b} -6
c) -4
(d) 2

For the next two (2) items that follow :

Consider the curves

y=lx-1land |x|=2

32. What is/are the point(s) of intersection of
the curves?. ‘

fy (-2, 3) only
() (2, 1) only
fc) (-2, 3)and (2, 1)

(d) Neither {-2, 3) nor (2, 1)

33. What is the area of the region bounded
by the curves and x-axis?

{aj 3 square units

{b) 4 square units

{c} 5 square units

(d) 6 square imits

B-OEBA-P-QEX/55A

12

For the next two (2} items that follow :

Consider the function -

_ x3 sinx cosx
flx)=| 6 -1 0
p p* p°

where p is a constant.

34. What is the value of f7(0)?
(@) p° (o) 3p°

(c) 6p° (@) -6p°

35. What is the value of p for which

£(0)=0?
1
o 0
(aj 5 or .
(b)) -lor O
fc) ué_or 1
{dj -lor1l '

1=

For the next two (2) items that follow :

Consider a triangle ABC in which

cosA+cosB+cosC= «/gsin-g

36. What is the value of sin—gsinEBsing?

1 1

faj 3 (b} 7

: 1 1
{c g {d) E

Download More Papers From GovtJobsAlert.In
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31, W T f{x) 3R g(x), [0, 2] | A R AT AT =T = (2) Tyt g
HFFT W T W F(x) = g''(x),

F)=4, g(1)=6, f(2)=3 ¥R g(2)=9 P
Eai F@? A 2l T x=4 W f(x)-g(x) x% sinx cosx
forge weR 27 flx)=| 6 -1 0
r p* p°
fa) -10 _ '
el p T 3R B, W R Hifmg)
(b) -6 ;
34. f(0) % WH FTRY
fc) -4
: (@) p° () 3p°
(d) 2
(c) 6p> (d) -6p*
AT T T < (2) W ok ferg 35. p % fr ¥ R £r7(0) = 027
T y=|x - 1| R x| = 2 T FEr Hifg) » -l@o
. 6
32. T THI F/% wiewsg Tog == 2/80 B Lig0
(@) ¥ (-2, 3) © —La1
' 6
(b) FHEH (2, 1) ] AT
{o) (-2, 3) 32, 1)
_ . AT T TR B (2) WAV * T
(d A@(-2, 3)MIA (2, 1)
w By ABC, R
5, % Tvﬁﬁ B o “SI'E"«‘T vy | : cosA+cosB+cosC=«/§sin§
TR | #, W forem s
fa) 3 & g 36. sin%singsingﬁmw%?
(b) 4w i 1 :
(a) 5 (b) y
{c) 'S 5HE |
, 1 1
(@ 63 TS _ 3 @ e
B-OEBA-P-QEX/55A 13 [P.T.O.
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37. What is the value of:
(A+BJ [B+C) (C+AJ
cOoSs cos cos ?
2 2 2

fa)

2
4

(b)

B

fc)

None of the above

(d)

For the next two (2) items that follow :

Given that tana and tanp are the roots
of the equation x2 +bx+c=0 with
b=z0.

38. What is tan(a +p) equal to?

faj bic-1)
fb) c(b-1)
fc) e(b-1)""

(d} b(c-1)71

» 39. What is sin(a +) seco, secp equal to?
fa) b
(b) —b
fc) ¢

—C

(d)

B-OEBA-P-QEX/55A

14

41.

For the next two (2} items that follow :

Conmder the two circles
(x-1)2 +(y- 3) 2 and
x%+y —8ch+2y+8=0
40. What is the distance betwgen the centres
of the two circles?
{a) S units
{b) 6 units
{c} 8 units
(d)

10 units

If the circles mtersect at two distinct
points, then which one of the ‘following
is correct?

(@)

(b) 1<r<?2

r=1
fc) r=2
{d 2<r<8

For the next two (2) items that follow :

Consider the two lines |

x+y+1=0and 3x+29+1=0

42. What is the equation of the 11ne passmg
through the point of 1ntersectlon of the
given lines and parallel to x-axis?

fa) y+1=0
() y-1=0
fc) y-2=0 | ol e

(d) y+‘2=0 : o %,

Download More Papers From GovtJobsAlert.In
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A+ BJCOS(B+ CJCOS(C+ A) & WA
2 2 2

w27

37. -cos[

(a)

B

{bj

B =

(c) 'i“g

(d) 39 H Q= T

AT Iy e Y (2) st % R

o ™ ® % tana 3R tanp, wHiEw
x% +bx+c= 0% YA 8, Fel b # 08l

38. tan(o +p) e e 37
fa} b{c-1)
(b} c{b-1)

(c) c(b-17!

d blc-1)"!

39. ;in(b%:g;is) seco, secp e TR 37
@) b’ |
(b) ~b
(0 c

[d - -

B-OEBA-P-QEX/55A

MY 3 TS T (2) Ty o T

A g (x-1)2+(y-3)2=r2 3K

x2 + y? - 8x +2y+ 8 = 0 T 4= Hifsw)
40.%@%3@%%@{&@1%?

@ 5w

(b) 63";51?

(c) 8

(d) 103;151%
41.aﬁqaﬁm-wﬁgaﬁmuﬁﬁaaﬁ{ﬁ%,

o Fffas § & #9-w o wd 87

W ore1

(b). 1<r<?2

(c) r=2 |

(df 2<r<8

A 21T avet 21(2) Tyt % o

3 @ x+y+1=0 3 3x+2y+1=0
o Rram fif '

a2. 3 T Y@l ¥ whde fig ¥ T ael aiR
 x-3E % WA T A = 8t

(@) y+1=0
(b)) y-1=0
(e) y-2=0

(d y+2=0"

[P.T.O.
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43. What is the equation of the line passing
through the point of intersection of the
given lines and paraliel to y-axis?

(@) x+1=0
(b) x-1=0
fc} x-2=0

(d) x+2=0

For the next two (2) items that follow :

Consider the equation
ksinx+cos2x =2k -7

44, If the equation possesses solition, then
what is the rhinimum value of k?

(@ 1

(b 2

fc) 4

(d) 6

45. If the equation possesses solution, then
what is the maximum value of k?

faj 1
() 2
fc 4

[d 6

B-OEBA-P-QEX/55A

For the next two (2) items .thai;-follow r

Consider the function

a[x}-i—x ]

flx)=

ix]+x

where [.] denotes the greatest integer
function.

46. What is lim f(x) equal to?
x—0+ i

@) 1
(b) Ina
fc) 1-at

{d) Limit does not exist

47. What is lim f(x) equal to?
x—0-

fa) 0.
{b)- Ina
{cg 1-a!

{d) Limit does not exist

For the next two (2) items that follow :

Let 2z, 2z, and 2z; bé non-zero

complex numbers satisfying z2

= {Z,
where [ = /-1, '

48. What is 2; + 2z, + 24 eqﬁal to?
(@ i |
(b} -i
fc/ O
(d) 1
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Download More Papers From GovtJobsAlert.In

43. <t T Yeel ¥ wloeos f9g | 7oA a|h iR
Y- 5 WHTR TG T e =1 27

{a) x+1.=0
(b) x-1=0
fcg x-2=90

(d x+2=0

T S AT BN (2) ATk R

e ksmx+c082x 2k-7 W FER
aﬁﬁ%m

Mwﬁaﬁwww% ?ﬁszgmtrm
7

(@ 1
(b) 2
(c) 4
(@ 6
45. aﬁmﬁwww% @ ko AR A
ey
@ 1
(b) 2
) 4

“{d b

B-OEBA-P-QEX/55A

AT T F1E Sl (2) WA * o

46,

47,

[JC]'+J<‘2_ i
B f(x}:_il—x—]?l-, wEl [ tfvepan

WWW@W%,WWWI

lim F () Tormer st 27

(@) 1
{b) Ina
fc) 1-a1

() g (Rafie) =1 arfeaes i @

lirggf(x}ﬁw%'w%?

{faj O
A(b_} Ina

f¢) 1-a7!

- {d) W.(%ﬁz)wazfﬁaﬁ%.

ST ST AT A (2) S ¥ for

nﬂ?ﬁﬁq%zl,zgafﬂz3¥@mqffw
wed €, s 22 —zzﬁﬂ'g'aaﬂ?ﬂ% RE
i=J-181

48. 2, +z, + 2, THEH TOW 7

(@) i
(b) —i
fc}- O

@ 1

© L [P.T.O..
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49, Consider the following statements : 51. Which one of the following is correct?

1. is purely imagi :
#1%2%3 18 PUIey Sy xy, yz and zx are .
2. zjzy + 24923 +232) is purely real.
(@) in AP only
Which of the above statements is/are

correct? (b} in GP only
{a) 1 only {cJ} in both AP and GP

{d) neither in AP nor in GP
(b} 2 only’ i

For the next two (2} items that follow :

{c) Both 1 and 2
Let z be a complex number satisfying

z—-4 z | 3
(d) Neither 1 nor 2 —g|7 land | ===
52. What is |z] equal to?
fa) 6
For the next two (2) items that follow :
Given that log, y, log, x, log,z are {b) 12
in GP, xyz = 64 and x°, y°, z° are in AP.
fc) 18
50. Which one of the following is correct?
x, yand = are (d] 36
fa) in AP only %
63. What is equal to?
z+6 - gy
{b) in GP only (@ 3
(b} 2
{cj in both AP and GP
@) 1 1
(d) neither in AP nor in GP {dj 0

q

B-OEBA-P-QEX/55A : 18
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. 49, Trfufag wo W faem iR ' 51. f=fafes #§ 4 F9-w & w8 87
1. 22,2y IGA: HCHH G| <y yz Mz
2. 22 + 2974 + 232 UGA: TEAR B
(@) e AP HE
syl U A Hh-E /R ud /R
b / / (b) Fad GPH 2
(@) e 1 : (c) AP 3R GPEFiH
(b) a2 ' (d TAAPE I AGPAE
() 12 ST 3T AT B (2) Wit F g

oa @ T 2 w wfiy e R, W

d) AW 1ATE 2 ;
“@ ¥ z““l:lsﬂt 2| - 3% uge ot 31
z—8 z-2| 2
52. |z| forees s 27
AT S AT A (2) it o fore '
_ faj 6
T T logyy logzyx, log,z
GP # ¥, xyz=64 ¥ R X3, °, 2° b} 12
APH #) '
| _ L c) 18
50. Frfofiaa ¥ § =@-T o 9 37
([d) 36
x, Yy ¥R z
. N z-6 o, 2
(a) Fat AP T el P TR
(b) ¥aci GP 3 @) 3
{b) 2
() AP GPEAIH
{cj 1
\(d} :Iﬂ‘[APﬁaﬂ‘('-TT:ﬁGPﬁ%. {d) 0
B~OEBA-P-QEX/55A 19 - [P.T. O.
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For the next two (2) items that follow : For the next two (2) items that follow :
A function f(x) is defined as follows : Let & and B (o <B) be the roots of
r the equation x2 + bx + ¢ = 0, where b > 0.
X+T for xe[~mn, O) and c <0,
tcosx for xe [o, g] 56. Consider the following :
x) = ' '
fix) 1. Pp<-u
2
[x—E) for xe(ﬂ, n} 2. B<|ol
2 2

Which of the above is/are correct?

54. Coensider the following statements :

{a) 1 only
1. The function f(x} is continuous -
at x=0,
2. The function f(x) is continuous (b) 2 only

at x=£.
2

Which of the above statements is/are fef Both.1:and.2

correct?

{a} 1 only o {d) Neither 1 nor 2
(b} 2 only '
{cj Both 1 and 2 .
(d) Neither 1 nor 2 57. Consider the following :

1. o+f+op>0
55. Consider the following statements :

2 -
i \th-" ik
e .

2. «?B+p2>0

1. The function f{x) is differentiable < o A

at x=0. Which of the above is/are correct?
2. The function f(x) is differentiable a) 1 only-

at x=2, ’ ' s

- 2 ) ,' A
Which of the above statements is/are (b} 2 only -
correct? '
a} 1 onl "{'
(a) Y {c) Both 1 and 2
{b) 2 only S
fc) Both 1 and 2 '
(d) Neither 1 not 2 (d) Neithet imor2 ™ *
B-OEBA-P-QEX/55A 20 "
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aT T AR R ) W S R STt T T 9 (2) weiEt 6 v

© T HEH f{x) FeEeed 9 8 aftefe R N B (a<p) wiEE
x+m , xe[-m, 0)%%@ .x2_+bx+c=0 E3 qel %, & b>0 3R
c< 0%l
nCosS X , xe|:0, E}%ﬁ“ﬂ l '
A 2 56. Frafafa w fem fife
_n2 T - 1. B<-a
[x 5]., xe(a, n]%ﬂ%ﬂ .
5. P wr R AL s Fam © SERIARLR L
1. WA , X=0Wd .
Pl x -W%l fa) FaE 1
2. Wf(x),x=-g_mm%|‘
S EEEE R R R NN, 2
fa} Fa 1 _ (c) 1 R 23
(b) F 2 . @ AR sad e
(o) 1.3 2 2 ' '

[d) Fq 1A 2

57. Ffafas | fer Hiftg ;-
‘ 1. o+B+af>0

55.—ﬁﬂﬁ'{ﬁ§ﬂﬂi?}=ﬁwﬁﬁﬂﬁﬁﬁﬂ: 2._‘a2[3+s2a>0

1. WeH f(x), x = 0 W HFFerg &

2. .Wf(x),ngq'(iﬂm%l wﬂﬁﬁﬁﬁq-m/@aé%/%?
T Fe @ AR-a/d w4 @ ¥l ot
(@) Faa1 .
T (b)) FEA 2

(b) FaA 2 A
PO SN - (c) 13m23A .

@ AW Ead 2 - (@ @1 RAE 2

/
B-OEBA-P-QEX/55A i 21 : [P.T.O.
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For the next three f3} items that follow : For the next four (4) items that follow :

Consider a  parallelogram  whose . Let f: R - R be a function such that
© vertices are A(l, 2), B(4, y), Cix, 6)

= 3 2 ’ L 2 ey
and D(3, 5) taken in order. Fle) = 57+ 2" f 1+ 20 S715)

for xe R

‘ . 7 D
58. What is the value of AC BD=“" 61. What is f(1) equal to?

=

25
. @ 2 <
(b} 30
(b -1
{c) 36 4
{d) 40 ' | c) O
59. What is the poiﬁt of intersection of the (d) 4
diagonals? ‘ :
(a) (Z 4) " 62. What is f’{1) equal to?
(a) -6
(b} (3, 4)
(b} -5
7
-, 5
) (2 ) ' {cf 1
d (3, 5) (d o .
60. What is the area of the pa}allelogram? 63. What is f""’(10) equal t??
{a) %square units (@ 1
(b} 4 square units L
11 : ' ; ' ‘
{c) 5 square units fc) 6
(d)’ 7 square units {d) 8

B-OEBA-P-QEX/55A 22
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maﬁmﬁm(a)mﬁ%m: : AT A T W (4) Ty & oo
T gHa-agds, e wWd, we owm W, M @ 5 o wew £ Rakww%
Al(l, 2), B(4, y), C(x, 6)3ﬂTD(3 5) %, B xeRs fou
e i Flx)=x3 + X2 FU)+ F(2)+ £77(3)
58. AC? -BD?2® AR ®MR! 3
) 25 61. fF(1)Fro® s 27
(b} 30
fa) -2
fc) 36
) -1
(d) 40
() O
59. WWWE%@W%? [d 4
o (2
62: f'(1) fous T 27
() (3, 4) ] B
@ (5 | s
_ {fc) 1
(d) (3’,‘ 5) ) E . A i
{d) 0

60. TR-TGYT F1 AAFA FT 27
63. f’"(10) foreeh =T 27

fa) 1
(b) 4 = T
(b) 5
() = v '
2 - fc) 6
(d) 7 = Ty (d) 8
B-OEBA-P-QEX/55A 23 [P.T.O.
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64. Consider the following : ' 66. What is the equation of the plane P? -

. f(2)=f(1)~ f(0) | (@) 2x+5y-2=0

2. . fU(2)-2f(1) =12
: () 5x+2y~5=0
Which of the above is/are correct?

fc x+z-2=0

{a) 1 only
(dl 2x-y-2z=0
(b) 2 only
67. If the plane P touches the sphere
fc) Both 1 and 2 x? +y2 +z2 = r?, then what is r equal
to?
{d} WNeither 1 nor 2 2
(@) —
29
For the next three (3) items that follow : 4
(b)) e
: . fv) V29
A plane P passes through the line
of intersection of the planes
5
2x~-y+3z=2, x+y—-z=1 and the ¢) ——
. y y . fc) 75
peint (1, O, 1).
@ 1

65. What are the direction ratios of the line of

intersection of the given planes?
For the next two (2) items that follow :

(@) (2, -5, -3) Consider the function

flx)=|x%-5x+6|

® {1,-5 -3) | 68. What is f/(4) equal to?
| @) -4
(c) (2,5, 3) kb) -3
| © 3
(@ (1,3, 5) @ 2
B-OEBA-P-QEX/55A _ 24
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64.ﬁﬁ%rﬁgaqiﬁirr(aﬂﬁm: , , 66. THAE P 1wt 1 B7

1L f(2)=f(1)- f(0)
2. fr)-2f(n=12

(@) 2x+5y-2=0

(b) 5x+2y-5=0

sugem § & FF-W/A 9/
fc) x+z-2=0
(a) 9 1 : (d) 2x-y-2z=0
7 2 | 67. TR T P, MR x2 + y? +22 = 72 N v
o w1 8, A r e o 37
c) 1323
{a) _2_ '
29
(d) ad 1R 2
4
® 75
. ] 5
.anﬁarﬁmﬁ?hq(spxrwvﬁ'aa%q. | © 55
T HEAd P, @HASl 2x-y+3z=2, T
xty-z=1 9 wRedw Y@ o fig (a)
(1, 0, 1) ¥ eRAT &Y~ =
65. R T waeh 1 Wreded Yo b RgesEud ot o ard 9 (2) wearet 3
EoI R4 - ,
HeH f{x) =|x? - 5x + 6| R femm =ifw)
(@ (2, -5, -3) 68. f'(4) Trad wer 37
_ N |
(b} (1, -5, -3) (@) -4
(b} -3
) (2, 5, 3)
| | fe) 3
' {d) (_1: 3, 5) [ 2
| B-OEBA-P-QEX/55A | 25 . [P.T.O.
|
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69. What is f"(2-5) equal to?
(@ -3
(b) -2
) 0

{d) 2

For the next two (2) items that follow :

Let f(x) be the greatest integer function
and g(x) be the modulus function.

70. What is (gof)[;gj-(fog)[-g) equal

to?

fa) -1
() 0
€ 1

(d) 2

71. What is (fof][—%)ﬂgog}(—?) equal

to?

@ -1
(p) ©
@ 1

fd} 2

B-OEBA-P-QEX/55A

For the next two (2} items that follow. :":

Consider a circle passing through
the origin and the points (a, b)
and (- b, —a)

72. On which line does the centre of the
circle lie?

fal x+y=20
(b} x-y=0
fc} x+y=a+b

(d) x-y=a’-b?

73. What is the sum of the squares of
the intercepts cut off by the circle ‘on
the axes? '

{d) None of the above [~ &

. Download More Papers From Gothobs‘AIert.In
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69. f’'(2-5) Fra s 37
@) -3
(b) -2
() ©

(d) 2

. A AT T B (2) WY & T s

1 Sifs fof f(x) e Qo weM i
g(_x)mw%l

ro. (g0 £1(-2)- (£ = 012 oy o 21

fa) -1
| (b) O
fe) 1

@ 2

7L (o f) (-2 + (g 9) (-2) P TR AT

faj -1
(b) O
(€ 1

(d) 2.

B-OEBA-P-QEX/55A
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AW A AT T (2) WAt * R

 yafg efw fagslt (a, b) W (b, ~a) ¥
TR 9T T 99 W feEn if)

72, 3 1 3 e e w A
fa) x+y=0
fb) x-y=0 -
) (c) x+y=a+b
(d) x-y=a?-b?

73. & W W F FR W AaES ®
TS 1 87 :

(d) I W § K Tl

[P.T.O.



Download More Papers From GovtJobsAlert.In

For the next two (2) items that follow : 76. Consider the following statements :

Let & b be two unit vectors and 6 be 1. There exists GE(—-;—, g) for which

the angle between them. g
tan”™ " (tan6) = 6.

: 8 '
74. What is cos[—) equal to? ,
2 ' % sin'l(l)—sin'l(l)
3 5
. 5 242 -1
la-b| - sin-1{ 22(8-1)
() 15
. 2
Which of the above statements is/are
) correct? '
' a+b
fa) 1 only "
a-b {b) 2 only
4
{c) Both 1 and 2
a+b
{dj | 4 | {d} Neither 1 nor 2
77. Consider the following statements :
75. What is sin(g] equal to? 1. tan"lxs+ tan'l(-_l—) =0
: X
N py 2. There exist x, ye{—~ 1, 1], where x 2 y
|G~ b| _ . pe
(@) > : : ' such that sin"'x+cos™ ! y= 5
Which of the above statements is/are
a+b : correct? '
2 )
fa) 1 only i
fo) Ia;b{ (b) 2 only
fc} Both 1 and 2
a+b
gy A2 | o
4 A {d) Neither 1 nor 2
B-OEBA-P-QEX/55A ' 28
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HT AT F 2 (2) TeAw o6 forg 76. Tr=faflan wudt w fem 1R
n
o iR B g, b 9 A wfewm § o o 1 QE(“ —]aﬂm%,ﬁlﬁ%ﬁ
= 1 BT B B tan~!(tan@) = 0 31
; ' (1) .
74. cos(g)%ﬂﬁwﬁ? . 2. sin l(gJ«-sm 1(%)
| . h1(2«/§(«/§—1))
~ =511 T
@ 2
IR FA W | PE-T/A wh R/
(b) I—c%?] | (@) ¥ 1
R (b) FaA 2
@ 1270
f ¢) 1 3R 23
(d) 1+ ‘ (@) Aq1ad 2

77, Frefifes S T R B

75. sin(g}ﬁ?{ﬁ%w%? 1. tan_1x+tan"l(;1~J=n
wr R 2. x yE[—l, llma@ﬁ%,ﬁﬁx;éy
(@) ]a;b| ' ¥ 7 ﬁm%ﬁsin_1x+cos'ly:g—.
) ITYE FoA! H @ BH-w /Y A 2/
(b) |G+ bl
- 4 {a) FF4 1
0 Ia;Bl (b} e 2
fc) 13 2
la +bj
(s . .
.” 4 . S (d T 1mad2
B-OEBA-P-QEX/55A 29 | ' [P.T.O.
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—
78. What a_tre the orfier alnd deg‘ree 82. What is lim e ¥ equal to?
~respectively of the differential equation x>0
whose solution is y = cx +c2-3c3/2 42, @ ©
where ¢ is a parameter?
@ 1,2 (b} 1
(b) 2,2 fcg -1
) 1,3 {d} Limit does not exist
(d 1,4
83. If A is a square matrix, then what is
79. What is '

o adj{A™Y} - (adjA) ™! equal to?
[2 xax~[2 [x]ax
2 ¥ L

o | (@) 2|A]
equall to, where [-] is the greatest integer (b} Null matrix
function?
@ 0 . fc) Unit matrix
(b) 1 fd) None of the above
fc) 2
(d 4 84. What is the binary equivalent of the
decimal number (-31257
80, If _ _ ‘(@) 00111
5 5 . :
sz(x)dx=4 and J'O{l+f'(x]}dx=7 (b} 0-1010
then what is fzf(x)dx equal to? fc} 00101
(@ -3 {d) 0-1101
() 2 | -
© 3 85. Let R be a relation on the set N of natural
@ s numbers defined by nRm & nis a factor

of m’. Then which one of the following

is correct? ;

e [

81. i = q? !
It ili)notb(x) a®, whepa -_a_#O’ tien {a) R is reflexive, symmetric but not

what is lim0¢(-"-c—] equal to? tensiave .

= = {b) R is transitive, symmetric but not
(@) a* reflexive o

-2 \
() a (c) R is reflexive, transitive: but not
(c) -a? symmetric S
(@) -a ) (d) R is an equivalence relation
B-OEBA-P-QEX/55A | . 30 -
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78. W W %, W @ 82. lim e FrudF W 7
y=cx+c2-3c3? 12 %, 9E ¢ W T=A x>0
B, #ife afr ua wow: @ #? @ o
@ 1,2 w1
(b 2,2 o -1
fc) 1,3
M (@) dm (fafe) @1 it 6t &

79. [oxax-[° (x]dx, W [] sfmar i 83. Ik A T W ¥eEp § W

adj(A™1) - (adjA)"! Foreer SR B7

FeH v, frad st 87
@ o (@) 2|A]
o 1 (b) YA S
{c) 2 (c) THI AR
(d) 4 (d) 39w T | FiE TE
80. IR [ flx)dx=4 @R [41 dx = . L
[, rtx) [+ rlxyax=7 84. TIHEH HEA 0-3125 1 T-anumd qoa @ 37
&, [0 £x) dx P s 7 -
. (@) 00111
(@ -3 (b) 0-1010
(b) 2 () 0-0101
") 3
(d) 0-1101
(d) 5 .
_ L 85. ¥ i R, wW ywfdl F wg=w N W
81. I Hloq’(X}:aQ’ s az0 B @ ‘nRm & n, m %1 U TAEE 3 g i
1im¢(f) S gwu%m&ﬁmﬁ%ﬁsﬁﬁﬁﬁq—m@@
x-0.-\a '
W fa) R wEgeH, gt ¢ forg dopme 78
(o) a” (b) R, wHfia & frg wgew
(c) .~a’ (c) R &g, 9w ¢ fhg wnfim
(d) ~2 (d) R & goudl Uad 2

B-OEBA-P-QEX/55A : 31 [P.T.O.
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86. What is j:n|cosx|dx equal to?

fa) O
(b) 2
fc) 4

(@) 8

87. What is the number of natural numbers
less than or equal to 1000 which are
neither divisible by 10 nor 15 nor 25?

(@) 860
(b) 854
() 840_

(@ 824

88, (a, 2b) is the mid-point of the line
segment joining the points (10, - 6) and
(k, 4). If a-2b=7, then what is the
value of k?

@ 2
(b} 3
fc) 4

{d 5

B-OEBA-P-QEX/55A 32

89. Consider the following statements :

1. If ABC is an equilateral triangle,
then 3tan(A+ BjtanC= 1

2. If ABC is a triangle in which
A="78, B=66° then

tan(g - C)<_ tanA
‘3. If ABC is any triangle, then’
(252 5) <ens5)
tan sin| — | < cos| —
2 2

Which of the above statements is/are
correct? '

{a) 1 only
(b) 2 only
fc; 1 and 2

{d) 2 and 3 o

90. If A={cosl2-cos36°){sin96°+sin24°)
and B=(sin 60°-sin 1'2°)(co_é;_4_8_°—wcc_>s 72°),
then what is % equal to’?"‘ '
fa) -1
fb) O

fc 1 L

d 2
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86. ‘[:n.|cosxidx Toroes s &7

(@ ©
fb) 2
fcg 4
(d 8
87. W frad w s &, 5t f5 1000 T So w

TR MA[ 109, 9 159 3T 25
CRCE =k F

(@) 860
(b) 854
(¢} 840 |
(d) 824
88. ﬁgai‘ruo -6) 3R (k, 4) B TR T
@rEs & 7Awg (a, 2b) 31 AR a-26=7
R, A kN HH R
(@) 2
() 3
© 4
(d 5

B-OEBA-P-QEX/55A 33

89. ﬁ%ﬂﬁmﬁaﬂ?ﬁm:

1. R ABC Ut wwag Pigw R, @
3tan(A+ B)tanC= 12|

2. a ABC s Byw &, el A=T8,
B=66°%,T'htan(§+c)< tan A 1.

3. AR ABC =E Pm R, W@

tan(A ; B)sin(g) < cos(g] Rl

T el S -/ w2/

fa) a1
(b) FaA 2
(c}llaﬁTQ

(d) 233

90. I} A= (cos12°~-cos 36°) (sin 96°+sin24°)

3R B =(sin 60°-sin 12°) {cos48°—cos 72°)’
& %ﬁﬁa&s ERCiE

(@) -1

(b} O-
fcg 1

{d 2

[P.T.O.
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91. What is the mean deviation from the 94. A coin is tossed three times. What is the

mean of the numbers 10, 9, 21, 16,24 ? . probability of getting head ‘and tail
alternately?
{a} 52
1
(b} 50 L
fc} 45
o g X
{d) 40 k
92, Three dice are thrown simultaneously. {c) %
What is the probability that the sum on ;
the three faces is at least 57 I-
(d) 3 e
@ 2L N
18
b 53 95, If the total number of observations is 20,
) 54 ) ' Tx; =1000 and 3 x? =84000, then
i3 - ;,/ ' 7 what is the variance of the distribution?
fs iy : .
(e 108 : : (a) 1500
215 ' (b} 1600
(d) 316 '
fc) 1700

) (d) 1800
93, Two independent events A and B have

_1 _3 i € :
R(A)= 3 and. BLBy= 4 WhalS s 96. A card is drawn from a well-shuffled deck

probability that exactly one of the two of 52 cards. What is the probability that
_events A.or B occurs? ' it is queen of spade?
1 | 1
2 a) —
(a) 2 () =
5 1
ol b)) —
{b) & {b) E
5 - 1
e — - e ¢ = .
© = © =
7 1
d} — dl =
@ = | (d) 2
B-OEBA-P-QEX/55A 34
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91. &Ml 10, 9, 21, 16, 24¢rmmﬁmw 94. UF foE H @ 9% IS A 7)1 RE i v
oo w7 27 - - TR | AW F e @t
fa) 52 | 1 o
. @
{b) 50
. ]
() 45 &l
(d) 40 1
fc) 5
92, dH Tl B g B e ¥ N we ® 3
AN % FH-T-HH 5 T ! Wiawar =0 R7 (d) Ea
@
95. AR el K FA TN 20 B, Tx; = 1000
: (b)- 53 | - A Lx? =84000 B, A WA T W
B = _ ™37 _
{c) % (@) - 1500
(b) 1600
215
@ e -
{ . {c) 1700
(d) 1800

+93. ammaﬁAaﬂtB%mP A}_laﬂi

96. 52 RN Il TF A=W TR FI T R A A &
-P(B]—W%Iﬁgﬁww%%AmBﬁ . R S 2 e e e aE

,am@amqﬁa-@m 3 AT
@ - N\ @ <
2 o
© ‘ o -
@ = } s @ <
B-OEBA-P-QEX/55A as nr [P.T.O.
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97. If two dice are thrown, then what is the. 100. What is the probability of 5 Sundays in
probability that the sum on the two the month of December?
faces is greater than or equal to 47 1
a —
@ 2 @7
18 5
b} =
. 5 (b) =
¥ 3
c) =
0 % 7
12 .
{d) None of the above
35 .
@ 52 o . | _
101. If m is the geometric mean -of
, \log(yz) Z\lo8(2x) o \logtx)
. 98. A certain type of missile hits the target [g) . 3 [,..J and [_]
with probability p = 0-3. What is the % % Y
least number of missiles should be fired then what is the value of m?
so that there is at least an 80% @ 1
probability that the target is hit?
' (b) 3
(@ S
fe) 6
(b} 6 :
d} 9
¢ 7
" " {d) Nome of the above 102. A point is. chosen at random inside
' a rectangle measuring 6 ifiches by
99. For two mutually exclusive events A and 5 inches. What is.the ‘probability that .
B, P{A)=0-2 and P(ANB)=0-3. What the randommly selected point is at least '
is P(A|(Aw B)) equal to? ' one inch from the edge of the rectangle?
1 2 '
a) = al —
@ @ %
2 . - 1 ‘
L ) ) 3 }
]
2 1
c) = c) — ,
© = @ 5 ‘
2 2
dl = d =
( } ( ) 5 )
B-OEBA-P-QEX/55A 36 ‘ | | | ;
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97. If% 3 9@ Tk s B, @ 9% Wikeem @0 g R 100. fromr 7 & 5 Yo F om & wilEEm

2 wera! A 4 AT 4 F AfF BY w1 R7
@ = @ =
| o 2 o w2
f o o (c 2
Qf . (d) %g (d) T T | A T

| | | 10‘( z) log (zx) log (xu)
08. w fE N ¥ VATE A @@ 4R F 1ol.aﬁ(g)”,(§jg e.fm{f] -
R p = 0-3 ¥l =qan FRad w&TE Y
s Rt B @sm ® YA A Wi TR q1EA m R, W m B A L7
wH-G-F9 80% B7 ' '

(@ 1
faj S (b} 3
| \ (b) o () 6
| 0 7 , | @ 9
i (d) Sode B F S T ‘
g 102. 6 3 T R 5 T NI TH AT F AR T
i 99. 3 wew smERi Feael A e B ¥ - fag argfesa: g ST R gER Wi 0
! P(A})=02 ¥R PANB)=03 %I & fop argfsha: 3 T 3@ iy 3w o
L P{A] (AU B)) fad s=t &7 : @Iﬁ;ﬁm—ﬁ-m@ﬁ%?
2
(a) % (a) 5
_ . 9 - : 1
| ® < | b 3
1
@ 2 @ 5
2 2
{d} 3 (d) 5
B-OEBA-P-QEX/55A 37 [P.T.O.
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103. The mean of the series Xy, X, ., X
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n

is X. If x, is replaced by A; then what
is the new mean?

X g =i

() — "2 —
n

X—x,+A

() L2070
: n

nX —x, +A

(d) _;1.2_

104. For the data

3,5 1,6,5,9,5,2,8,6

the mean, median and mode are x, y
and z respectively. Which one of the
following is correct?

{fa} x=y+z
b) x=y=z
fct xzy=z

(dl x=y==z

respect of a histogram :

1. The total area of the rectangles in
a histogram is equal to the total

" area bounded by the corresponding
frequency polygon and the x-axis.

2. ' When class intervals are unequal in
a frequency distribution, the area
of the rectangle is proportional to
the frequency.

Which of the above statements is/are
correct?

{a} 1 only

(b} 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

B-OEBA-P-QEX/55A

105. Consider the following staterments in -

38

106. A fair coin is tossed 100 times. What is

the probability of getting tails an odd
number of times?

@ 3
o .
© 2
@

107. What is the number of ways in which

3 holiday travel tickets are to be given
to 10 employees of an organization, if
each employee is eligible for any one or
more of the tickets?

{o} 60
{b) 120
{c) 500
{d) 1000

108. If one root of the equation

(I-m)x? +Ix+1=0

is double the other and ! is real, then
what is the greatest value of m?

-9 ’ 9
(a) “g (b} "8“
8 8

@ =3 5

109. What is the number of foﬁr—digit decimal

numbers {<1) in which no digit is
repeated?

(a) 3024
(b) 4536
{cj 5040
{d) None of the above

Download More Papers From Gothobs;AIert.In
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108, A0 x,, x5, . X F1 A X RIAR xp B 106. % < @ 100 IR IJEH @ 8l I
A g feenfia fora <t &, < s e =0 R, @ & ™ fwm wen @, = oam A
M _ wrfiremen s BT '
fa) X-xp+M\ ' @ L

, 2
X=X =2

(b) 2 3
n . 7 . {(b) B

X—x5+h ‘
(c) ~ - (c) Zl
@ nX —x, +A _ ) 1
n 8

104, 35S 3, 5, 1, 6,5, 9,5, 2, 8 6% 107. T WA F 10 FAlE B G-I F

W,H@Waﬂtwm:x,yﬁz%l 3%%%3@@?@1@1% IR TEE
freafafaa 3 A - o v 27 Fhar O @ e R F um 7
fa) x=y+z Lo : s B @) 60
() xzy=z - (b} 120
! fc) x#zy=z = {cj 500
(d x=y=z fd} 1000

105. TF TR % AR & ReRilen FoE w e 108, AR WA (1-m)x? + Lo+ 1= O T

ENE L , gﬁwwaﬁw%aﬁnmm% W mE
1. ww wEaRE #, s w g daea sifpad qH ¥ 27
Fa aHERal a5 SR - R aierg ' .9 v D
Bl BT AR B B @ =3 ™ 3
2. U IHEdl WA § S 9t e e 8 . 8
| %, B o W e A € =3 @k
| AN 3 | aﬁ Rt w18
109. 9R-3FHY SyMEd GEEl (< 1) H,
T o A R F-w /R wh /7T oft o7 e T A ¥, WS T R7
fa) ¥ 1 (@ 3024
b) Had 2 A (b) 4536
(c) 1323 | o {c) 5040
d T 1A d2 | (d) IR A FE
? B-OEBA-P-QEX/55A 39 [P.T. O.
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110. What is a vector of wunit length

orthogonal to both  the vectors
i+]+k and 21 +3j-k?

-4 +3j~k
Al e et
(a) be
-47 +3j+k
(B) et

¢} ———

26
-3 +2)-k

14
—3+2j+k

{d) ———' s

111. If g, b and ¢ are the position vectors of

the vertices of an equilateral triangle
whose orthocentre is at the origin, then
which one of the following is correct?

112. What is the area of the parallelogram

having diagonals 3{+j-2k and
i-3)j+4Kk? '

{a) 55 square units
{b) 445 square units
¢} 543 square units

(d) 1542 square units

B-OEBA-P-QEX/B5A

113. Consider the following in respect of the

wix A=+ 1),
ma = 1 -1 H

1. A2--A
2. A% =4A

Which of the above is/are correct?

fa) 1 only

.(b) 2 only

fc) Both 1 and 2

fd) Neither 1 nor 2

114. Which of the following determinants

have value ‘zero™?

41 1 5
1. 1797 o
20 5 3

l a b+c
2. 1 b c+a
1 ¢ a+b

0 ¢ b
3 - 0 a
b -a 0O

Select the correct answer using the code
given below. '

{fa) 1 and 2 only

. (b} 2 and 3 only

"{c) 1 and 3 only

(d) 1,2 and 3

Download More Papers From GovtJobsAlert.In
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110, 3 wRwl §+ j+ £ 3l 20 + 3]~ & - Ao 113 (—1 1) . '
. . IR A= % R A Pefafa
Uk @ETs 1 ey 1 87 . . s 1 -1 kA
. A a forar hifsTT
-4i+3j-k . -
fa) — e . 1. A%2=-4A
' 2. A% =4A
~41+.3j+k R .
(b —p— | Suder A H-w/A v 2/
o kg (@) a1
(c) -3i+2j-K ‘ )
14 _ _ (b) e 2
(d) Nty ¢}

(d) @1 IMITA2

111 3R &, b ¥ ¢ w vy e, Rew o
was qEreg W R, Wl % Rl wfw &, @ 114, Prffee w38 R am w8

Pt # & #-a W 27 a1 sl
. o 1. |79 7 9
{a) a+b+c=0 29 5 3
() 3+ +2 TF ahm 1a bse
2 1 b c+a
() d+b=2 ' 1 ¢ a+b
5 TS5 ; . 0 ¢ b
(d) a=b+c ' 3. |- 0 a
, -b -a 0
112. fl 37+ J- 28 o - 3} + 4% 909 wHi- | ‘ L
ﬂ'@’.ﬁﬁ;éﬂww%z?' - TP RS TS I S i S
(@ SYSaigwEE  fa) FEE 132
() 45T g | (b} Faa2 3
(c) 53 = g . (g ¥Ea 13
(d) 1542 = 38 ' (d) 1, 233
B-OEBA-P-QEX/55A a1 . (P.T.0.
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115. What is the acute angle between 'the
lines represented by the equations
y-~3x-5=0and J3y-x+6=07

fa} 30°
(b} 45°
(c) 60°

(d 75°

116. The systemm of linear equations
kx+y+z=1, x+hky+z=1 and

x+y+kz=1 has a unique solution

under which one of the {following-

conditions?

fa) k=1and k=-2

() k-land k=2
fct k+-land k=-2

(d) k#-1and k =2

117, Whatis the number of different mMessages
that can be represented by three O’s
and two 1’s?

{fa) 10
() ¢
) 8

(@ 7

B-OEBA-P-QEX/55A

118. If'log,{ab) = x, then what is log,(ab)

equal to?

@ 1
X

(b)

0 X4
@ X

119. If
y=1log;p x +log, 10 +log, x +log;, 10

then what is

(3,0
equal to?
(@ 10
(b) 2
¢ 1
(d o

120. Suppose oy and w, are two distinct cube
roots of unity different from 1. Then

what is (o, - )2 equal to?
@ 3
(b} 1
) -1
(d -3

Download More Papers From GovtJobsAlert.In
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115, T y-3x-5=0 3 J3y-x+6=0

g fefia Yt % o= @ =g o R
(@) 30°

(b) 45°

c) 60°

{d@ 75°

116, W wiwwm W kxtyrz=1,
x+ky+z=13R x+y+kz=1F THAA

74 B, A
(@) k=13 k»-2
(b) k=13 k=2
(-c) k#-13k=-2
(d) k=-13R k=2
117. m-aﬁnéﬁsﬁiﬁ,a‘f?ﬁqoaﬁizﬁlm
el forg s @k 2, W #0127
fa) 10
(b) 9
() 8

d) 7

B-OEBA-P-QEX/55A

118. AR log,(ab) = x B, T log, (ab) FaH T

27 :

@ 1
X

)

o —

(d) —

119. afe

y=log,; x +log, 10+log, x +log, 10

3, (%) foraeh w27

x=10

fa) 10

by 2

fc) 1

d 0

" 120. H AT o, IR 0, T (GAR) F, 1 A TN,

B HET-AT TS &1 W (o - wy)? Trus
TR B7

fa) 3
(b} 1
fct -1

d -3

[P.T.O.
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SPACE FOR ROUGH WORK

B-OEBA-P-QEX/55A 44
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SPACE .FOR;ROUGH WORK

B-OEBA-P-QEX/55A : ' 45 .. [P T. O.
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SPACE FOR!ROUGH WORK
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SPACE FOR ROUGH WORK

ER =
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1. when W B & g e, a3 gt gRerE 6t TsAre wavd W o e g W R ew, wer @ g
TON UB e WAV SR T 91 AR R, @ 5 wd whewm g @ T5@ /)
2. Fwm = @ T OMR IW-u& ®, SR@ wam @, O Tw afft witemr gfere orgwe A, B, C T D =,
mﬁ@ﬁm%ﬁwmﬁmﬁ%mﬁaﬁtmmaﬁwmaﬁ%lﬁwﬁﬁmﬁ
/R A R # s P w R s
3. 76 Waw gfEm W oWy § Ry T wew § AR g SR
form 31 whe gfem W 3R g feren _ ‘
4. 79 qlem g & 120 W (3%) R e | v s Rt oi st A1 § oW ¥ el W § = W
(37) Rw T | T A O g B A S, B A9 -0 R siea A aed §) AR o e oo A
ﬁwmw%,ﬁmmﬁﬁmﬁsﬁmaﬁﬂnammm%mm@%ﬁmw%l
5. S A W T e F R T sw-we R s T §) I fi e e S
6. Wt TwEl ¥ I wEH € _
7. wﬁm%mqﬁwgﬁm%%ﬁﬂm%mﬂtm—mmaﬁamwaﬁ,:ﬂmaﬁuémm—ﬁ%m
AMya SRl F ogEn Fo fre sat-wE T A € :
8. mwwmﬁw-mﬁﬂﬁ%mawqﬁm%wmaﬁﬁm—mamwﬁﬁm%lamﬁam%r
1y ghem gitre @ 9 A B )
9. = M ¥ Ty v whew g F ot wom 2|
10. e It % fom gve
TefE wyA-TEt § Iefgan g Ry e wem 3w % o qug R smem
i) ToF T ¥ T R A IO 3| snfiear g e T F R i e o e I % T e v e e
T 3 N gw-Toerd wvs & w9 wwr swem) '
(ii)uﬁﬂém@ﬁaﬁmm%m%,ﬁsﬁmmwm,wﬁﬁqmwﬁﬁﬁ@mwm%,
i oft 38w % Ty swdwgan @ 3 qw F v T e
(iii) wf2 3fream g @ W v e fen @ R, eyt Fediaam g IR A R S ¥, @ W W F g = 2
T fen sy -

o WF AU qE UHEUr GRERR Wiem ® A HE W a9 a6 T et

Note : English version of the instructions is printed on the front cover of this Booklet.
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